112 ELEMENTARY PROBLEMS AND SOLUTIONS Feb. 1971

Solution by David Zeitlin, Minneapolis, Minnesota.

The units digit has a repetitive cycle of six digits: 1, 7, 7, 9, 3, T.

Since aggg is the 1,000th term, and 1000 = 6(166)+4, the required units

digit is 9.

Also salved by W. C. Barley, Wray G. Brady, Richard L. Breisch, Warren Chaves, Herta T. Freitag,
J. A. H. Hunter (Camada), Henry Newmaon, C. B. A. Peck, Richard W. Sielaff, John Wessner, and the

Proposer.
[Continued from page 50. ]
show that Theorem 2 yields an equivalent formula.
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